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1 NTo 1t 3NT = 400 [£3] 4S -3 -150 11
2 2] ¢ 1t 3NT -1 -100 [£3] 2C +1 110 5
3 panyiic] 1t 3SNT +1 430 1t 3SNT +1 430
4 =] Jris] INT +2 -150 [ri] INT +4 -210 2
5 2] ¢ x 3NT = -400 [ri] 3NT -1 50 10
6 panyiic] [£3] 2C -3 -150 [ri] INT +1 -120 1
7 =] x 3H = -140 x 2H +1 -140
8 TS x 4S +1 -450 x 4S +1 -450
9 panyiic] 1t 4S +2 480 5| 6S 1 -50 11
10 | B x 3S = -140 x 3S = -140
11 | XN [£3] 4Sx -4 -800 [£3] 4S -3 -150 12
12 | @it 1t 4H = 620 1t 4H +2 680 2
DATUM& it L
iRl [E3f3Ipa) Y. 5 +] 24 | 30
TS/ R FRBEL /i ERE Aait 24 30
oK E/XBERER SRFBAE/ T V.P. 7.99 | 12.01
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x| mn| ER | m |en | me | B | w2 | a8 | wee| 20|
1 NTo R 2S = -110 x 2S = -110
2 2] ¢ [£3] 1Sx -3 -800 x 4S -1 50 13
3 panyiic] 1t 5D +1 420 1t 6D = 920 11
4 =] Jris] 4H +2 -680 [ri] 4S +2 -680
5 2] ¢ [£3] 2S +1 140 [£3] INT -1 -100 6
6 panyiic] R 5Cx -2 500 1t 4Sx +1 690 5
7 =] R 4HX -2 500 x 2H -1 100 9
8 NTo 1t 4H +1 450 5| 4H = 420 1
9 panyiic] 1t 4H = 420 1t 4H +1 450 1
10 | B [£3] 4S +1 650 [£3] 4S = 620 1
11 | XN 1t 3NT +1 430 5| 3NT +2 460 1
12 | @it [£3] 3H -3 -300 [£3] 3H -3 -300
DATUM%it iFE
FRERE T r. 3+ 17 | 31
XUt/ SRR RIEE /PR it 17 | 31
B /IR BARK/BR B V.P. 5.78 | 14.22
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1 NTo [£3] 3NT = 400 [£3] 3NT = 400
2 2] ¢ 1t 2H -1 -100 [£3] 1D -2 -200 3
3 panyiic] x 4H = -620 [ri] 3SNT +1 -630
4 =] 1t 2S = 110 [ri] INT -2 200 3
5 2] 1t 7D = 2140 [£3] 6D +1 1390 13
6 panyiic] x 4D +1 -150 [ri] 3SNT -1 100 6
7 =] x 4S = -620 x 3S +1 -170 10
8 NTo [£3] 4Sx -1 -100 x 4H +1 -450 8
9 panyiic] [£3] INT = 90 [£3] 3NT -2 -100 5
10 | B x 4S +2 -680 x 4S +1 -650 1
11 | XN Jris] 7S = -1510 [ri] 6S +1 |[-1010 11
12 | @it Jris] 6S -1 50 [ri] 4S +1 -450 11
DATUM& it L
ISR FEFOPA Y. 5 =] 40 | 31
SELT /1 RN, B EIE/NF Aait 40 | 31
REFETEZZ=TN RS/ R V.P. 129 | 7.1
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1 NTo [£3] 3D = 110 [£3] 4D -1 -50 4
2 2] ¢ [£3] 3NT = 600 1t 5D = 600
3 panyiic] [£3] 4S = 420 [£3] 4S = 420
4 =] [£3] 2H -2 -200 [ri] 2NT -3 300 11
5 2] ¢ x 5D = -400 [ri] 5D = -400
6 panyiic] 1t 2D -1 -50 1t 2D = 90
7 =] 1t 2H +2 170 [ri] INT -3 300
8 NTo 1t 2D = 90 x 3H 100
9 panyiic] 1t INT +1 120 5| INT +2 150 1
10 | B 1t INT +1 120 5| 3SNT = 600 10
11 | XN Jris] 3NT = -400 [ri] INT +1 -120 7
12 | @it x 3NT -4 200 1t 4Sx = 790 11
DATUM& it L
BRisiEx RLES Y. 5+ 4 48
ENEE/ABRS BR 5B /RSP, ait 4 48
B/ PREE AEIE/MEFEE V.P. 0.77 | 19.23
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1 NTo x 3H -2 100 [ri] 4Sx -3 500 9
2 2] ¢ Jris] 3H -2 100 x 2NT -2 100
3 panyiic] Jris] 3D = -110 1t 2S = 110 6
4 =] 1t 2NT -3 -300 [£3] 3NTX -1 -200 3
5 2] ¢ 1t 5D -1 -100 it 5D -1 -100
6 panyiic] [£3] INT -1 -50 [ri] 2S -1 100 4
7 =] Jris] 3SNT +1 -630 [ri] 3SNT +1 -630
8 TS x 3NTXx -1 100 [£3] 4Dx -2 -300 9
9 panyiic] [£3] 3NT -2 -100 it 4Sx -1 -100
10 | B x 3SNT +1 -630 x 3SNT +2 -660 1
11 | XN 1t 4Sx -2 -300 [£3] 4Sx = 590 13
12 | @it x INT -1 50 x INT -1 50
DATUM& it L
RS I HERT Y. 5+ 10 | 35
FE/(OFR EOKIE/ R Aait 10 | 35
=S H/ZEE] BN/ DR V.P. 3.45 | 16.55
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1 NTo x 3SNT +1 -430 x 3SNT +2 -460 1
2 2] ¢ [£3] 5H -1 -100 [£3] 6H -2 -200 3
3 panyiic] [£3] 2S +1 140 it 2NT +1 150
4 =] Jris] 6H -2 200 [ri] 4H +1 -650 13
5 2] ¢ 1t 4H = 620 it 4H +1 650 1
6 panyiic] Jris] 4H = -620 [ri] 4H = -620
7 =] 1t 2S = 110 it 2S +1 140 1
8 NTo [£3] 2S = 110 it 2S = 110
9 panyiic] [£3] 3SNT +2 460 [£3] 3SNT = 400 2
10 | B x 3NT = -600 x 3NT = -600
11 | XN x 3NT -1 50 [ri] 3SNT +2 -460 11
12 | @it 1t 3NT = 600 it 3NT -1 -100 12
DATUM& it L
I MHETHR FEBSPARK Y. 5+ 42 2
SERW/XIER FH/EEE Aait 42 2
BN/ SERE, MBI/ % V.P. 18.78 | 1.22
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1 NTo 1t 2S +1 140 [£3] 2S +1 140
2 2] [£3] 3SNT +2 660 [£3] 3SNT +1 630 1
3 panyiic] x 4S = -620 [ri] 4S = -620
4 =] x 2S = -110 [ri] 3S = -140 1
5 2] ¢ x 2H +2 -170 [£3] 2S -1 -100
6 panyiic] [£3] 2H -1 -50 x 3NT -1 100 4
7 =] x 3SNT +1 -630 [ri] 3SNT = -600
8 NTo x 3S +1 -170 x 4S = -420 6
9 panyiic] [£3] 4Sx = 590 [£3] 4S = 420 5
10 | B x 2NT -1 100 x 2Cx +1 -380 10
11 | XN x 4H -1 50 x 4H -1 50
12 | @it 1t 6C +1 1390 [£3] 3SNT +3 690 12
DATUM& it L

Je &= FR iRYllk22BA Y. 5 +] 35 7

22XK/MA0LT FE/FER ait 35 7
FRYGE/ 22 H &/ A5 V.P. 17.08 | 2.92
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1 NTo [£3] 4H +2 480 [£3] 4H +2 480
2 | @t & 7C = |-1440] 7 7C = |-1440
3 panyiic] 1t 3NT +1 430 [£3] 3NT +1 430
4 |WwE| 1t 4S +3 | 710 it 6H = | 1430 12
5 2] ¢ [£3] 4H -1 -100 [£3] 3H = 140 6
6 panyiic] [£3] 4S +2 480 [£3] 6S = 980 11
7 =] Jris] 3C -3 300 [£3] 4S = 620 8
8 NTo [£3] 4H -1 -50 [£3] 3NT = 400 10
9 panyiic] Jris] 3Cx -3 800 [£3] 3NT -1 -50 13
10 | B R 3NT = -600 x 3NT = -600
11 | XN 1t 3NT +2 460 [£3] 4S = 420 1
12 | @it Jri] 4S -1 50 x 4S -2 100 2
DATUM&it L
RYIZPA RE B r: 3+ 14 | 49
AREIE/PRE KR =/ CNERE ait 14 | 49
AiE/tAE= AZE X V.P. 1.86 | 18.14
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1 NTo Jris] 3NT -2 100 x 2H +2 -170 V4
2 2] ¢ [£3] 2H -2 -200 x 3C +2 -150 2
3 panyiic] x 4S +1 -650 1t 5H -3 -150 11
4 =] 1t 3NT -2 -200 [£3] 3NT = 600 13
5 2] ¢ x 4S -2 100 x 4S -1 50 2
6 panyiic] [£3] INT +2 150 5| 2H +1 140
7 =] Jri] INT +2 -150 [£3] 2S -3 -300 4
8 NTo 1t 3NT -3 -150 5| 3H -2 -100 2
9 panyiic] [£3] 4H -3 -150 5| 3NT -1 -50 3
10 | B Jris] 3SNT +3 -690 x ONT = -1440 13
11 | XN x 4S = -420 x 4S +1 -450 1
12 | @it x INT -1 50 x INT -2 100 2
DATUM& it L
B FRsS I MHEi%E Y. 5 +] 27 | 33
FRZE/{aEE R R/ EE) Aait 27 | 33
Z=0th/BF/ NS ShX/HSE V.P. 7.99 | 12.01
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1 NTo 1t INT = 90 it INT -1 -50 4
2 2] ¢ 1t 3NT -3 -300 [£3] 2H +1 140 10
3 panyiic] [£3] 2H +1 140 [£3] 2H +1 140
4 =] 1t 2H -2 -200 [£3] 3Dx -1 -200
5 2] ¢ [£3] 3NT -2 -200 [£3] 3SNT +1 630 13
6 panyiic] 1t 4Sx -1 -100 [£3] 4Sx -1 -100
7 =] Jris] 3NT -1 100 [ri] 4S -1 100
8 NTo 1t 3NT = 400 it 2NT = 120 7
9 panyiic] x 3NT -1 100 [ri] 3NT -1 100
10 | \WB [£3] 3NT -2 -200 [£3] 4H -2 -200
11 | XN 1t 3S +1 170 [ri] 5Hx -3 500 8
12 | @it Jris] 5D = -400 it 4C -1 -100 7
DATUM& it L
ZZRkPA =M= Y. 5 +] 11 | 38
=/PEI PRER4T /{B{ERA Aait 11 38
L&/ T Ak BT R/ FH &R V.P. 3.09 | 16.91
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x| mn| BR | m |en | me | B | 2 | g8 | e 2|
1 NTo 1t 4H +1 450 it 4H +1 450
2 2] ¢ Jris] 5Cx -2 300 x 5Cx -2 300
3 panyiic] [£3] 4HXxX -1 -200 [£3] 4S -1 -50 4
4 =] 1t 7S = 2210 it 6S +1 1460 13
5 2] ¢ Jris] 4H +1 -450 [ri] 4H = -420 1
6 panyiic] 1t 3H -2 -100 it 4Sx -1 -100
7 =] 1t 2H +1 140 it 3HXx = 730 11
8 NTo Jris] 4H = -420 it INTX -3 -500 2
9 panyiic] Jris] 3NT -1 100 [ri] 2NT = -120 6
10 | B [£3] 4S +1 650 [£3] 4S = 620 1
11 | XN Jris] INT -1 50 [ri] INT 1 50
12 | @it x 3NT = -400 x 3SNT +1 -430 1
DATUM& it L
IR EREEPA SKYPBA r: 5] 23 | 16
MR/ RINER FEWR/EE Aait 23 16
ZIR/XI ¥5edE/Z=BHED V.P. 12.31| 7.69
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